[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

-

1.0

Ratio

=
M, e LN RLRLE ML

&

)

b

b ¢

T

3

0.95

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit_original
Efficiend —— pom_v0001_R000000001__Global__mkFit_det-triplet

~ 0.05 T T T T T
B 0t

o : : : : :
>0.04F------ e RS IR e
3 E : : : : :
O St EEE S
S E : : : :
£ 0.08F -+ i
o E : : : :
0.025F------ R S Prremeesdneeeees :
0.02F -+ *u ------- S
0015 o +‘+"+'+m+"+}‘;" """ e
0.0%----- + + AL O % IR B AR
S S 11 1 -
SRV U 0 1% N TN 00 R Y
s E :
o [ X
1__ ...... r PR WEOVITERIRITIVEIEEIEE VYV I SN S
005t t i i i t
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03

0.02F
0.018

iy

nH. | | | | |
o O
T f
o [l

ol o ol : : N U Heeeeaas
B =5 0 5 0 15 20

éim. PV z (cm)



	Contents
	Page 1


